8 7 5 4 3 2 1
| | |
ITEM NO.[ PART NUMBER DESCRIPTION Marterial Color Flame Rafing QTY.

] WA-24B*16 WA BASE, W/MOUNTING BOSSES ABS DARK GRAY | UL94-HB (UL FILE E56070) ]

2 WA-24C*16 WA COVER, W/GASKET ABS DARK GRAY | UL94-HB (UL FILE E56070) ]

3 |SCREWS-SSM4-20-4 ASSEMBLY SCREWS, 4 PACK ]

3.1 SCREWS-SSM4-20|  M4X0.7 X 20mm OAL, PHILLIPS DRIVE MACHINE SCREW  |STAINLESS STEEL 4
- (2176 )————
~—(1.958)
~(1.781 )—=
(7N (N =isisisisisisiromasasasasasasasasasgripsossssssssssssssssmgazsssssszszszom) (/RN & 2% 1
@ . | @ e
I ipel] =3 1§ TR TN e NI I
W i @) o) ii{®) 1
_J ) 2 ) I || 1= I oS (2 RSO
I . |
i ol Uy iyl !
! L o ! | I i :
e o i il
e o i il
e o i il
e o i il
i o il i
i | O O — Ll g _ |
i ® ez I 11 © i ! - = )
i | | [ .
| . ii
| || ;
i ! i i
i ! i i
i I I 3!
i | I i /
| | | 7
| | |
| | |
. | =
1
SECTION A-A

[I( N\ T
_ e
| *F:#,.L |
[ T
F=4n
Py S
e T T
ik 11 ol ol
iy T
o1l o1l
=i I o
it Il Il
Wi i i i
o 1o I
o 1ol 1
[ 11l Il
[T IRy 11l
iyt 1l 1l
it 1 (AN
i: I |: : [N 1
| L O
{"T"_THI HE A B T I
[ AL AL A
— U\ Mo _4iai_
L L1 o

WA-24B*16-PCB (REF. ONLY):
PCB TEMPLATE FOR WA-24B*16

NOTES:

UNLESS OTHERWISE SPECIFIED:

PART NO.

1. SERVICE TEMPERATURE RANGE: -40°C TO 80°C

2. DESIGNED TO NEMA 1, 2, 4, 4X, 12, 13

3. MOUNTING FLANGE KITS ARE AVAILABLE FROM POLYCASE.
4. UL LISTED TO UL508-4X SPECIFICATIONS (UL FILE #E194432).

DIMENSIONS ARE IN: INCHES[mm] WA-24%16

TOLERANCES: ANGULAR: #2°

TWO PLACE DECIMAL: +.030

THREE PLACE DECIMAL: +.015
PRINTED GRAPHICS: +.010

MATERIAL

I ) 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.

PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088

e wroRmATon contanzo s | FLAME RATING SIZE | WA UNIT, W/MOUNTING REV
DRAWING IS THE SOLE PROPERTY OF | |J| 94-HB BOSSES, WITH GASKET,
POLYCASE. ANY REPRODUCTION IN PART e - ‘ DARK GRAY -
REV | DESCRIPTION [2ONE[ BY [APPRD[ DATE | pepissionor roLYCASE S proanen. | DRAWN | DM, | 8/2/2070 =
REV|S|O'\I|S CADFILE:WA-ZAirlé CHECKED B.M.B. 7/7/2011 SICALE ]] | | SHEET ] OF ]
8 7 5 IT\ 4 3 2 1




8 7 6 5 ‘L 4 3 2 1
- 6.729 -
- (5.199) = 4X.765 = 4X 315 — lem
020 TYP. — 2X $.270 —= 550 = ,— 4X ©.280 ' —— = 5X.108
5 2X ¢ .095 ' A / 4X R.235 4X 449 — +

YA I I ¢ N Y L et e e P
- - - - - YD 4X +592 t 4X ¢.313 ‘/ i wE b ok )
074 |2 i 4x 848 1 % DS P =G b= =l
_ ! N7 ; ' * He) )G, o Ol
N2\ ' ¢ et/ AN AN N\l
4X @ 172 _7 ! ! 1 i %’;E/;/ 4 ! [ \::E:S%. i
1 : r - é i i!! !‘:E i
| iy
' ' ' ! ' i i
| : | i i
K i
B 4.763 i ' i
. . . i
! ! [ Loy ! Pt 2X .142 i i
/1 % J#J:EE r i Hﬁc ﬂilii i
- - - - - - ] f——————————— . BETiE
] | | | as80) | ax 071 ] ?
4X .040 i i
i i
i i
| b i
' ' ) i
b ik
1 N =
- - - | - - i il 1
J .039 TYP. —¢ | “VQN'I:.. ...VQQ !
S — © ©,
2 — Y T 7 / __L :_‘_:_________________________ _______________________________________________:_'-2/

2X PCB MOUNTING BOSSES 4X BRASS INSERT: L ®.188 (GATE) _/

WITHOUT BRASS INSERTS ACCEPT A M4X0.7 X .188 LG. SECTION A-A

M3 OR #4 THREAD FORMING
SCREW. (NOT INCLUDED)

4X PCB MOUNTING BOSSES WITH BRASS INSERTS
ACCEPT A M3X0.5 X 6mm SCREW WHEN USED
WITH A .063 INCH THICK PCB. (NOT INCLUDED)

4X BRASS INSERT:
M3X0.5 X .188 LG.

1.03° TYP.

| |
I I
i | i
o o 1.536
o I
UI ! I ol
!:} 'li ! I IE
AT OOy
gL Ry
~—— 2X 1.670 —==—2X 1.670 ——
6X 142 —=— | =~—
——
4 ol e~ 4X .064 095 TYP . 46° TYP
X .078 12X .040 r . . . .
1A 1A
|
I
1o | 1o +
A oA 4X_177 2X.177
A | A A i ] * *
—— ~— 16X .055
SECTION B-B
NOTES:
1. COLOR: DARK GRAY
UNLESS OTHERWISE SPECIFIED: PART NO.
ST | WA24Bs o I case
TWO PLACE DEC\MAL:.LOSO MATER'AL
THFF;;E?ELS %Egigﬁ:?? L; Si%w ABS p 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.
CROPRIETZY AND CorFIDENTAL PH#: 1-800-248-1233, 440-934-0444 FAXH: 440-934-0088
He INFormATION conTaNeD INTHS | FLAME RATING SIZE WA BASEé(\SVS/S'\I/E\SOU NTING REV
STACSIRLTCE S | UL 4B (UL FLE ES6070 .01
B e buE TSmO
CAD FILE: WA24B+16 CHECKED | B.M.B. [9/24/2010 o




8 5 4 3 2 1
050 TYP. —==— ©.180 (GATE)—\ A 140 —f=—=f=—=] 120
7o) T TR i 050 == =
(@)(’ - = \ = = = \\(\\-ﬁ ||| /C 005 —=f=— 030 ——
1 B} 7 L
+ —_ —_ —_ —_ —_ 4
\
ﬁ? | &; + _ ! T
| | 2XD 177 ©.142 - - 0160  ©.320
* 4 I l
_ ; ® - 4.759 s DETAIL C
| Nl ° SCALE3: 1
* (4 PLCS.)
o |l %2
+ R — R — , + —= 090}~—
4X 905 ! 2R l/m
( (+)- — — — — — ) [
4X .455 &Qé\‘ 0¥ | ij)/ / .0401
[ A —a 4X R.235 7 I Y
N R
- 6.728 — —8XR.050 SECTION A-A 080 — CLEAR, SILICONE GASKET
DETAIL B
SCALE 4 : 1
L N I
kRN i
il =gt 000
e ) IR
4X 550 — =
X070 === 1L 4x 165 ] = 179 TYP,
4X .106 —;
[ T . — 43°TYP.
SECTION D-D
~mtla— 43°TYP.
NOTES:
1. COLOR: DARK GRAY
UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS AR?E IN: \NCHES[m{T\] WA‘24C*] 6 I
TOLERANCES: ANGULAR: +2
RORGHATS  ATERAL POIYCAse
PRINTED GrAPHCS: 2010 | ABS SR PRI oot 15U
THE mroRATION contango s | FLAME RATING SIZE | WA COVER, W/GASKET REV
PoLvanst any repropUCTION I pacr | UL94-HB (UL FILE E56070) -
REV] DESCRIPTION [ZONE] BY JAPPRD] DATE | oo O e I oraw | DME | 5/2/2070
REVISIOI\IIS CADFILE:WA-24F+16 | CHECKED | B.M.B. 19/24/2010 SICALE: 1 | @'G | SHEET 1 OF 1
8 5 4 3 2 1



8 7 6 5 . 4 3 2 1
(48] (o8 o N N ™M o~ o
(@) N [@Nep] N o™ o O N (@)
No® o 0 ™M ™ 0 0 o o ® o o
NN O — — - . — — 0 O N »m ™
< x> 0 > X > X x x VOV < — X
‘ ‘ ‘ ‘ | ‘ ‘ ‘ ) 6X ¢.135 :
- L Ll L — ~ 4X 2.220 !
3X 2.153
|
) o—- - - - -— -~ 1.790
A - 2X 1.492 1
| | | |
| | | |
1 A 133 -
- - - - - - . 0
i i 133 -
| | | |
2X PCB BOSSES ACCEPT A #4 OR
M3 THREAD FORMING SCREW
| | | |
& ><+— 2X 1.492 .
+ +\ _ — — o - f+ - —® \ ] .790
3X 2.153
- — T — +) 4X 2.220 [ ]
L \ 4X R.300
4X PCB BOSSES ACCEPT A M3X0.5 8X R.071
X 6mm SCREW WHEN USED WITH A
063 INCH THICK PCB.
Do e e | PART NO.
1MOLERANCEAS: ANéBULAR: :r2n°m WA_24B*] 6'PCB |
TTF\IIéSE PPLIZ;(%SE IIDDEE%:\EA:/;LL %O(io(; MAT E R lA L p O ]305%9R§§HIO 44011-1083 US.A.
| TROPRETARY AN CONTDRNIAL |- 2 e A SIZE PCBTEMPLATE | REV |
Il\l.cl)lIllgl:_UDES .031 CLEARANCE FROM INTERIOR OF WA-24B*16. eyt e - B 1
CAD FILE: WA-24B+16-PCB | CHECKED | BM.B. | 7/7/2011 SCALE: 1:1 | @G | SHEET 1 OF 1
8 ! 7 ! 6 5 f 4 3 ! 2 ! ]



	Sheet1
	Drawing View1
	Section View A-A
	Drawing View4
	Drawing View6
	Drawing View7
	Drawing View8

	WA-24B+16.PDF
	Sheet1
	Drawing View1
	Drawing View4
	Section View A-A
	Drawing View6
	Drawing View7
	Section View B-B


	WA-24C+16.PDF
	Sheet1
	Drawing View1
	Section View A-A
	Detail View B (4 : 1)
	Detail View C (3 : 1)
	Drawing View5
	Drawing View6
	Section View D-D


	WA-24B+16-PCB.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3



